
-fhnJ-
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1 6
1. b-4 I I-2 11

(n) [lOI

1 2 1
2. [ 7 3 -2 1
3 .  ( n )  A + B  =  [4+b,,  \3+bIz  4+b,S  -5+b,,]

(It) b,, = 4, b,* = 5, b13 = - 1 , b,s, = 6

4. AB =
[‘I “,  ::I

A iYUlW 2x4, B ihl~ 4x3, LL63:  AB ihU1~ 2x3

5. (fl) AB =

@I)  B A  =

(+I)  A B  #  B A

28 48
6. (?-I) CA = I I13 6

(9)  (2A+C)B  =

(43)  (AC)B =
I







3

3
5

- 1

i-11  /.-

3 O(i-  -

0 21 L
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4. (n) G4
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I. (n) 20 (-4 -2 (fl) -1+2i (J) - 3 t

w 0 (CA) - 1 8

3. 4! = 24; II!

5. t Lh+lU?Ud  Udddii~~fJJfilLkJ  (not unique)

1. (f-0 1/: j-3: j+w!: 01 = -22

(lo w,i; ;I -41; ;I +o = -22

2 3(n) o-2 I
-I 4

I +o = -22

(J) (-l)J’l  : ; = -4
I I

1 3 2(9)
- 1 0

1 = 2

2. 32

3. t4

4. (n) a11-a22-a33 (U)  a,1~a22~~.~~a,,

5. (n) 18 (2) 39

(fJ) 16
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I. (n) 71Ti.a (91) Pf9 (n) L&l

3. -8

5. 108 hJ%lZ-jk4ijUYl2.3.7 3 &

9. 15

11. (n) 612 = /AB/ = 1~1 1~1 (II)  14 = IABl  = IA/ IBI

13. (n) -17 , (N -5 (+o 0

(4) -13 (9) 39

17. 8

19. 4;

21. 5

23. 0

I -- 3

1. i 4 2 1
2 1 0

3. L -2-l

0

- 2 - l I0
-1 3 0

5. I 2-l

0

2 -1 1-5

7.  cof A = adj A
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1 . 13
XI

=
--, x2

= - 1
4

4

3. 1
x,

= ;,
x2

=
- - ,

2
x2

= -- I
2

5. x = 3, y=3

7. x  = [---I -,,J









3 2 9





1. (n) (25,  20. - 5) (u) (31, 14, - 14)

(a) W, 6, -3

2. (ll) (-3, -6, -9, 0, 1 ) (?I) (23, 16, 0, 15, !a)

(CI) f 5 %%l







3 3 4













3 4 0

1. (n) ppkh~~ R* ii 2 aansmi

( Y )  ~apdlM%J  R3  i 3  ~anmj

(R)  ~ap&ps~~  P2 i 3 aanmo5

( 9 )  q;lap4ilt6~  M,,, i 4  LT?nLmos”

2. n, "u 3. n, "u 4. n, 9

6. msrdnb~,o~lm  7 wmanbd ",,  vJ,  vj

7 . ;ap4 : (1, 0, 1) ; ixi  = 1

8. $JR~lU :  i-t, -f, 1,Oj  i% = 2;

9. %api  : (4, I, 0, o), (-3, 0, I, o), (I, 0, 0, I) ; 01 = 3

10. ;ap : (3, 1, O),  (- 1, 0, 1) CiG  = 2;

I I .  rQi~ap4  ;  oi  =  0

1 2 . qap4 : (4, -5, 1) oi  = 1;
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10. (n) 0 (y) 0

11. (r-i) -$ OJ) 0

12. (n) k = - 3 (Y) k = - 2 , - 3

15-  -&-e-(-34,44, - 6 ,  II)

1.  00

2. w. (4

3. 00

4. b-0

(?J) (1, O), (0, - 1)

8 .  (n)  (&+,& ( -;.$,  0). ($.;v  - 2 )

(N
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1. (n) xppGiw%~  R* d 2 bmd

(91) ippd1es%l  R3  i 3 LmmG *

(e)  appii~~u  P2 ii 3 bmbm$

(9) ~apflM~¶J  Mzx2  ; 4 Lanamoi

2. n, “u 3. n, “u 4. 6, 9

6. aosbanbaoT!,am  “1 whx-dnbmi  “,, “*,  v2

7. .l$-?p4  : (I, 0, 1) %i = 1;

8 .  Z.JR~lU:  (-$,  -f, 1,O);  %I  = 2

9. $JFJ$lo6  : (4,*1,0,  O), (-3, 0, 1, O), (1, 0, 0, 1 ) ; 0: = 3

10.  2ppA  : (3, I, O), (- l,O, 1) ; OP  =  2

11. Ya~aqRpA is =  0;

1 2 . zpp4  : (4, -5, I) 07 = 1;
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lo. (n) 0 w 0

11. (n) s w cl

12. (n) k = -3 (U) k = -2, -3

14. m?na'uj  (n), (91) bb~r  (n)  km7nfh  A

(-34,44,  -6,ll)

1. w
2. cw,  (4
3. (n)

4. (n)


